
6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

0.1435

0.144

0.1445

0.145

0.1455

0.146

0.1465

0.147

0.1475

0.148

al
ph

a1
3_

4e
X

1X

alpha13_4eX1X:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

2.36

2.38

2.4

2.42

2.44

2.46

2.48

2.5

2.52

2.54

2.56

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

0.42616−

0.42614−

0.42612−

0.4261−

0.42608−

0.42606−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

0.16

0.18

0.2

0.22

0.24

0.26

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6385

6385.5

6386

6386.5

6387

6387.5

6388

6388.5

6389

ru
n

run:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

94−

92−

90−

88−

86−

84−

82−

80−

us
l_

1X
usl_1X:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

us
l_

4a
Y

usl_4aY:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

58

60

62

64

66

68

70

us
l_

4e
X

usl_4eX:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

17

us
l_

4e
Y

usl_4eY:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

34.5−

34−

33.5−

33−

32.5−

32−

us
l_

12
X

usl_12X:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6385

6385.5

6386

6386.5

6387

6387.5

6388

6388.5

6389

ru
n

run:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

130−

128−

126−

124−

122−

120−

118−

us
r_

1X
usr_1X:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

2−

1.5−

1−

0.5−

0

0.5

1

1.5

2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

162

164

166

168

170

172

174

176

us
r_

4e
X

usr_4eX:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

13.4

13.6

13.8

14

14.2

14.4

14.6

us
r_

4e
Y

usr_4eY:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

37−

36−

35−

34−

33−

us
r_

12
X

usr_12X:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6385

6385.5

6386

6386.5

6387

6387.5

6388

6388.5

6389

ru
n

run:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

16400

16500

16600

16700

16800

16900

us
l_

co
il1

usl_coil1:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

3250

3300

3350

3400

3450

3500

3550

us
l_

co
il3

usl_coil3:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

3220

3240

3260

3280

3300

3320

3340

3360

3380

3400

3420

3440

us
l_

co
il4

usl_coil4:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

930−

920−

910−

900−

890−

880−

870−

860−

850−

us
l_

co
il6

usl_coil6:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

13200

13300

13400

13500

13600

13700

13800

13900

us
l_

co
il7

usl_coil7:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6385

6385.5

6386

6386.5

6387

6387.5

6388

6388.5

6389

ru
n

run:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

16620−

16610−

16600−

16590−

16580−

16570−

16560−

16550−

16540−

us
r_

co
il1

usr_coil1:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

3270−

3265−

3260−

3255−

3250−

3245−

3240−

3235−

3230−

us
r_

co
il3

usr_coil3:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

3150

3200

3250

3300

3350

3400

3450

us
r_

co
il4

usr_coil4:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

659.6−

659.4−

659.2−

659−

658.8−

658.6−

658.4−

658.2−

658−

657.8−

us
r_

co
il6

usr_coil6:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

14800

15000

15200

15400

15600

15800

16000

16200

16400

us
r_

co
il7

usr_coil7:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6385

6385.5

6386

6386.5

6387

6387.5

6388

6388.5

6389

ru
n

run:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

445−

444−

443−

442−

441−

440−

439−

438−

437−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

71.2−

71.1−

71−

70.9−

70.8−

70.7−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

19.4

19.6

19.8

20

20.2

20.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

474−

473−

472−

471−

470−

469−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

89.1−

89−

88.9−

88.8−

88.7−

88.6−

88.5−

88.4−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

172.2

172.4

172.6

172.8

173

173.2

173.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

35.4

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

181.8

182

182.2

182.4

182.6

182.8

183

183.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

27.4−

27.2−

27−

26.8−

26.6−

26.4−

26.2−

26−

25.8−

25.6−

25.4−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6.4−

6.2−

6−

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6387}



6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

238−

237−

236−

235−

234−

233−

232−

231−

230−

12
X

_c
oi

l1
12X_coil1:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

82−

81.95−

81.9−

81.85−

81.8−

81.75−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

1.2

1.4

1.6

1.8

2

2.2

2.4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

3.5

4

4.5

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

436−

434−

432−

430−

428−

426−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6387}

6120 6120.2 6120.4 6120.6 6120.8 6121
cyclenum

6385

6385.5

6386

6386.5

6387

6387.5

6388

6388.5

6389

ru
n

run:cyclenum {run == 6387}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


